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(b) 3.0
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(b) exactly zero
(d) exactly one

(c) 400p,  (d) 4p,
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ir, If the rest mass energy

(b) 1.78 MeV.
(d) 0.28 MeV
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26. Acceleration-time graph of a body is shown
below.
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27. A can filled with water is revolved in a vertical
circle of radius 4 m and the water does not fall
down. The time period for a revolution is about

(@) 2s (b) 4s (c)8s (d)10s

28. A body of mass 8 kg is suspended through two
light springs X and Y connected in series as
shown in figure. The readings in X and Y
respectively are

1At

(b)6kg 2kg
(@)8kg,Bky

(a) zero, 8 kg
(c)2kg, 6kg






40. A pendulum has time period 7 in air when it is
made of oscillate in water, it acquired a time

peri?d T'=2T. The density of the pendulum
bob is equal to (density of water = 1)

(a) V2 (b)2
(c)2+2 (d) None of these
41. When a stationary wave is formed, then its
frequency is
(a) same as that of the individual waves
(p) twice that of the individual waves
(c) half that of the individual waves
(d) +/2 that of the individual waves

45. An insulator plate is passed between the plates
of a capacitor. Then, current

Iy
]I
(a) first flows from Ato Band then from Bto A

(b) first flows from Bto A and then from Ato B
(c) always flows from Bto A

42. The equation of a wave is y=>5sin (_"_ ol E] (d) always flows from Ato B
figd 004 4) 46, The mobility of free electrons (charge =6
whe:fe, iR 10 o and ¢ is in second. The mass = m and relaxation time =1) in a metal 18
maximum velocity of the wave will be proportional to
(8) 1 ms™’ e m e m
i LA fejf s d) —
b)2ms™ (@) mt (b) i ( }m ( }81:
=1 i
(c) 1.5ms i 47. A current of 3 A flows through the 2 Q resistor
(@) 1.25ms shown in the circuit. The power dissipated in
43. Two tuning forks A and B having frequency of the 5 Q resistor is
500 Hz each are placed with B to the right of A. 2Q
An observer is between the forks and is moving
towards B with a speed of 25 m/s. 4€
The speed of sound is 345 m/s and the wind
speed is 5 m/s from A to B. Calculate, the 5
difference in the two frequencies heard by the 12
observer. i
e e (Ehieb e @4W  B2W  ©IW  (@)5W
(c) 76.2 Hz (d) B0.9 Hz

i 48, A diverging meniscus lens of 1.5 ‘refractive
44. The top of the atmosphere is about 400 kV with index has concave surface of radii 3 and 4 cm.

respect to the surface of the earth, The position of the image, if an object is placed

corresponding to an electric field that decreases 12 cm in front of the lens, is

with altitude. Near the surface of the earth, the

field is about 100 Vm ™ (@7cm (b)-8em ()9cm  (d)10cm
Still ﬁ.re do not get an electric shock as we step 49. If the focal length of a lens of a camera is 5 f and
out ;:f our house into the open house, because that of &nfother is 2.5 f, what is the time ?f
(assume the hoxfse. to be a steel cage so that e:ipoa:;re or the. second if for th? first one is
there is no field inside) 200 s? (where, f is focal length/unit aperture)
{a) thereis a pote(r;tlal difference between our body " ! i 1 4 1 o ;

and the groun - —
(b) 100 v~ is not a high electric field so that we do 200 800 6400 3200

not ie@i the Shock sul Crit-mal a.ng].e fﬂr Certain medium iﬂ Sin'l(O.E},
() our body and the ground forms an equipotential The polarizing angle of that medium is

surface (a) tan™(1.5) (b) sin™'(0.8)
(d) the dry atmosphere s not a conductor (c) tan™'(1.6667) () tan™(0.667)
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ipound?
‘ (b) LTC (c} Freon (d) Gasoline

7
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(b)CﬂHSMgBr

(d) (C,Hs)4PP
)M contains two dissimilar
ic C-atoms. The number of optical

B2 (@4 (d) 8
of the following is the strongest
ohile? :

(b)CHyO™ ()CHaS™ (A CaHs0

NNizZzaro reaction, the mtermedmte
be least hydride donor 18

19. Ni* ion (Z =28) contains unpaired electrons
(@1 L2 (@8 (@6
20. Which of the following will violate Pauli's
exclusion principle?
15" 528 2p
@] L]
s, 125 2p
@[] (] [
(c) Both (a) and (b)
(d) None of the above
21. Which of the following reasonating atrumnméﬁri'
is not correct for CO,?
(@) D= c==6_:_
(b) O — C==0:

() Om=C—GF
(d) O— C=0F

22. The pair of molecules forming stmng’ést
hydrogen bonds are

(a) HCOOH and CH,COOH
(b) CH,COCHj and CHCl4
(c)H,0 andH,

(d) SiFg and SiH,

23. The bond order of Hj ion is o JIE it has
2 bonding electrons, how many antlbandmg

electrons it will have?
@4 O3 (@2 (d) 1
24 [ 1odide Pl Asly | Sbly
Bond angle 102 100°2! 99°

The bond angle is maximum in Pl ,which is
(a) due to small size of P 3
(b) due to more bp - bp repulsion in Pls

(¢) due to less electronegativity of P

(d) None of the above

25. The radius of H-atom in its gmund state 1,-5
0.53A. The radius of ; Li** in the similar ai;\a‘l}a
lﬂ ' i
(a) 0.058 A e R
(b) 0177 A BRRIGEEY ety
(c) 0.706 A , UV I
(@ 106 A v e ST D







39. If M is molecular weight of solvent, K is molal

:elevation constant, 7} is its boilling point, p° is
its vapour pressure at temperature T and P, is
vapour pressure of its solution having a
non-volatile solute at 7' K, then

@2 =Ps _ AT, gy

o AR
F=ps_K

B ——t= =__ 0 M

(b) 7 AT X

I:C)'Ci) _ps=f"£x M
o3 AT, 1000

fdlpo_ps=&T"x M
I3 Ky 1000

40. A 0.001 molal solution of [Pt(NH,),Cl,] in

water had a freezing point depression of
0.0054°C. If K for water is 1.80, the correct
formulation of the above molecule is
I;El} [Pl(NH3)4C13]CE (D) [Pt(NH4),Cl,]1Cl,
() [Pt{NH,),CIICl, (d) [PtNH;),Cl, ]

41. In Zeigler Natta polymerisation of ethylene,
the active species is

(@ACl, (D)Et,Al  (©)CHCH, (d) Ti®*
42. Of the given anions, the strongest Bronsted
base is
@¢clo-  (B)Clo; (©)CIO; (d) CIO;

43. Standard electrode potential data are useful
for understanding the suitability of an
oxidant in a redox titration. Some l?alf cell
reactions and their standard potentials are
given below.

MnOj (ag) + 8H' (aq) + 5e —
Mn? (aq) +4H,0); E°=1.51V
Cr,0% (ag) + 14H* + 66— 2Cr”" (aq)
+ TH,0(); E°=138V
Fe** (ag)+ ¢ — Fe? (ag)y;, E°=0.77V
Cly(g) + 26 —» 2C1 (ag); E° =140 ¥

Identify the incorrect statement regarding
the quantitative estimation of gaseous

Fe(NO,),.

(@) MnO; can be used in aqueous HCI
(b) Cr,02~ can be used in aqueous HCI
(6)MnO; can be used in aqueous HS0,
(d) Cr,03" can be used in agueous H,S0,

44. When the sample of copper with thie zine
impurity is to be purified by electrolysis, the
appropriate electrodes are

Anode Cathode
(a) pure zinc pure copper
(b) impure zing pure copper
(c) impure zinc impure sample
(d) impure sample pure copper

45. The compound that can work both as an
oxidising as well as reducing agent is
(a) KMnO, (b) H,0,
(c) Fe,(SO,)s (d) K,Cr,04
46. The reaction,
10FeS0, + 2KMnO, + 8H,50, —
29MnS0, + 5Fey(S0,); + K50, + 8§H,0
is an example of reaction of
(a) disproportionation  (b) intermolecular redox
(c) intramolecular redox (d) None of these

47. For the following equilibrium,
N,0, = 2NO, in gaseous phase, NO,is 50%
of the total volume when equilibrium is s.et
up. Hence, per cent of dissociation of N,O, 18
(a) 50% (b) 25%
(c) 66.66% (d) 33.33%

48. XY, dissociates as

XY,(g) = XY (g)+Y(g)

When the initial pressure of XY; is 600 mm
Hg, the total equilibrium pressure is 800 mm
Hg. Calculate K for the reaction assuming
that the volume of the system remains
unchanged.
(a) 50 (o) 100 (c) 166.6 (d) 400.0

49. Hydrogen ion concentration in mol/lL in a
solution of pH = 5.4 will be
(a) 3.98 x 10°
(b) 3.88 x 10°
(c) 3.68x 107°
(d) 3.98 x 10°®

50. The solubility of Agl in Nal solution is less
than that in pure water because
(a) Agl forms complex with Nal
(b) of common ion effect
(c) solubility product of Agl is less
(d) the termperature of the solution decreases
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